

[image: C:\Documents and Settings\Administrator\桌面\使用资料\论坛logo.png]                               www.hfzhongkao.com
[image: C:\Documents and Settings\Administrator\桌面\物理答案1.jpeg][image: C:\Documents and Settings\Administrator\桌面\物理答案2.jpeg]
image1.jpeg
s

2012 RPN (REEH) W 5

PEREBHEREFHE

| EEE CKEES/NE, §EAS, #3245 UTEERA-MERER):
D2A 3.D4A 5D 68 7B 8B
L ZHE: CRELT/ME, 3465
64 BT @4 BT @) EERE QM)
(24) BRARAKERS, BRI H BRKERETE LR
649 (1) Sl (RFRD (24 %F @4 @ 2eH
6440 B4 43
44)) 4.8
U4 (D BREBERSPEHES 25

(2) kMR AR R 25
B4 (D HR 24) (2324 0.36 (24) () 3X10° 24
s < @8 82
(64)) 400 (249 80% (24)) 410 (24))
. REM: (AE3E, £25)

18. (1449
(1) FHEARFERZIKERD L,
1.92x10%kg
—pLS, WAL=t =——TtX 8 g
=5 75 12kgim x2x1m
B v, :%:Bl)m/s )
(2) OFBEHNENKDETES| RS,
ABERA £8X 10N @
FEFs=Frt=8X 10'NX0. 5m/s X 505=2 X 10°] Qs
FS _Fvt
@ TTwrw
_8x10"Nx0.5m/sxt _
2T G4
19. (144}) (1) Fu= G = 0.5N . @)

(2) Fa=pkgli = 0.5N




image2.jpeg
Se R
vt 0.5N

= ————— = 0.5x10'n?
Px&  1%X107ke/n3X10N/ke

V=2V =2 X0.5X10" '

= 1X10" n*

G=mg= plg=0.8X10’%ke/n'X1X10™ 0’X10N/kg = 0.8N (64}
@ AFRI =6 - Fg = 0.8N - 0.5N=0.9N

BUNERIZS) ¢ B o= 0, W)

Ty XO0B = GaXvt

) 0.3N X0.4n = 2N X 0.02 /s X ¢
BB =35

®4)
20. 45D METFX S, HPK PARIRT A, BAM, BRHOEHHFMET, 25

P=252W
L e g e —
R R R & RB_J R
u 1% B A A
v-12v U=12v
L Ez
@
@
@
@
LU, =0.7x12V =84V “a)

HEHEEMSS




image3.png
eduV itis




image4.png
eduV itz




